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BM = 13t(2 + cos(πt/3)) I t = 2 J K
ωOA = 1.1 LMN/c K
OA = 30 K AB = 78 K BC = 30
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AM = 17t(3 − t) I t = 1 J K
ωOA = 1.8 LMN/c K
OA = 20 K AB = 68 K BC = 50
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BM = 9(sin(πt/6) + t2) I t = 1 J K
ωOA = 2.2 LMN/c K
OA = 10 K AB = 27 K BC = 20
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BM = 10t(2 + cos(πt/3)) I t = 2 J K
ωOA = 1.2 LMN/c K
OA = 20 K AB = 60 K BC = 40

456575 89 :^ : _DCHGAC `CEaX<C bD aGA<C

30◦ 30◦

A B

O C

M

AM = 8t+ 8 sin2(πt/4) I t = 2 J K
ωOA = 1.4 LMN/c K
OA = 20 K AB = 60 K BC = 20
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AM = 8t+ 8 sin2(πt/3) I t = 3 J K
ωOA = 1.4 LMN/c K
OA = 20 K AB = 48 K BC = 20
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BM = 8t+ 8 sin2(πt/6) I t = 1 J K
ωOA = 2.2 LMN/c K
OA = 10 K AB = 20 K BC = 10
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AM = 10(sin(πt/6) + t2) I t = 3 J K
ωOA = 0.8 LMN/c K
OA = 80 K AB = 250 K BC = 200
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AM = 20t+ 8 sin2(πt/3) I t = 3 J K
ωOA = 1.5 LMN/c K
OA = 44 K AB = 120 K BC = 60
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AM = 20t+ 8 sin2(πt/3) I t = 3 J K
ωOA = 1.5 LMN/c K
OA = 41 K AB = 120 K BC = 55
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BM = 4t(12 − t) I t = 2 J K
ωOA = 1.6 LMN/c K
OA = 50 K AB = 160 K BC = 100
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AM = 7t(2 + cos(πt/3)) I t = 6 J K
ωOA = 1.3 LMN/c K
OA = 84 K AB = 252 K BC = 100
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AM = 9(sin(πt/6) + t2) I t = 5 J K
ωOA = 0.9 LMN/c K
OA = 100 K AB = 459 K BC = 300
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AM = 12t(5 − t) I t = 2 J K
ωOA = 1.2 LMN/c K
OA = 50 K AB = 144 K BC = 100
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AM = 16t(3 − t) I t = 1 J K
ωOA = 1.8 LMN/c K
OA = 20 K AB = 64 K BC = 40
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AM = 8t(2 + cos(πt/3)) I t = 6 J K
ωOA = 1.2 LMN/c K
OA = 100 K AB = 288 K BC = 200
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BM = 14(sin(πt/6) + t2) I t = 1 J K
ωOA = 2.6 LMN/c K
OA = 13 K AB = 42 K BC = 33
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BM = 11(sin(πt/6) + t2) I t = 1 J K
ωOA = 2.7 LMN/c K
OA = 10 K AB = 33 K BC = 20
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ωOA = 1.2 LMN/c K
OA = 12 K AB = 36 K BC = 15
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AM = 15t(3 − t) I t = 1 J K
ωOA = 1.8 LMN/c K
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